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2. A==28HE

SIHAE 2022

Ol &EXb== 0 S0l &

AAZ ¢ FMEEF=EHILXA

® S35 (ctg:m2l)

= & Al = Xl = Al |
& = o= o HHE QoM s & = IR HAEXEH S

E Al 1,045,682 0 1,045,682 | & A 1,045,682 0 1,045,682
Fal 2 = 904,128 0 904,128 | Bl & Xt & At HI 855,832 0 855,832
=] ES a 0 0 0|8 A& At HI 0 0 0
Xt 2 = 0 0 0| & 2 4 i 79,242 0 79,242
Eotzz e 0 0 0[21 2 & Hl 0 0 0
HE=d3al = 0 0 ool & =2 0 0 0
o X = 3 = 140,000 0 140,000 | Ol Xl = 103,347 0 103,347
o = 3= 0 0 Ol 0 0 0
o X = ¥ 1,554 0 1,554 [dl+=322 348 0 0 0
J B o= ¥ 0 0 0|21 & X = 7,261 0 7,261




SIAAZ 20224
Ofl &b Xb== 0 =0l &
A2 ¢ ALHEEFHAIXNE )=

@ +=2A= (S =)
. .3 2 A O| OH @E'E = 2} ﬁ|.=‘=u,|o:|
o = S = = | —+—g,|°_," S O =2 =
200 MIel==¢ 1,554 0 1,554
210 24 EMel = 1,554 0 1,554
216 Ol At==¢ 1,554 0 1,554
216-01 330 S0l At ==& 1,554 0 1,554
OAl21 3 ol
1,554,000 14! = 1,554
700 BEE-LUSLUHEAH 1,044,128 0 1,044,128
710 B82S 140,000 0 140,000
714 Ol Xl =3l = 140,000 0 140,000
714-01 Ol Xl S &l = 140,000 0 140,000
O&ddE& 0lE3
140,000,000 x 14! = 140,000
720 LHS HeH 904, 128 0 904,128
721 M3 904,128 0 904,128
721-03 JIEtSIH & L S 904,128 0 904,128
OMHYE FE0e FUX
a2
404,128,000& 14! = 404,128
==Y XN&JIs o
23
500,000,000 14! = 500,000
= 2 g A 1,045,682 0 1,045,682




ST : po2o
WAR A =0
SHTPE : AMYEEFHX KRB
@ K& = (e9:@e)
AR .22 . @ .09 . AS2AY - BAS X = o 8% | yosa
NEH
SN2 1,045,682 1,045,682
Hol2 1,045,682 1,045,682
AMTE Bel 2% 942,335 942,335
W= FH0I2 FUNRIIZ SS(AMHL TR T 942,335 942,335
EEET R 942,335 942,335
101 21 21H] 79,242 79,242
04 JAN2EHSLS 79,242 79,242 79,242
oggogy 79,242
—ZFEOIE WP 73,2808 3% 1502 32,976
—FONEEIAH B2 oY
73,2802+ 12§+ 152 » 122 13,191
—FONEEH A2 o2 33,075
N 73,2801 * 12 52522 18,467
suazsg 109,920%! 12§ +562 6,156
Eaag 73,2809 *12 £522! 3,811
x4 73,2802 +1% #1228 880
2 AL 2,000 *12f 2522 504
R 29,818, 0002 +0.929% 278
nszsz 29,818,000 *1.65% 492
TR 29,818, 0002 +3.43% 1,023
TN QYT H 1,055,000 *11.52% 122
2003 29,818, 0002 *4.5% 1,342
201 L2 bl 317,380 317,380
01 A2l 218,980 218,980 218,980
SR =Y 218,980
— ZOIT O H 50 A Y (2A1200]8H)
70,0008 * 132 * 12 10,920
— ZOITIRE M 50T (2A2H014)
30,0002 #1323 12 4,680
~MRMIIE FoA s B
100,000%! « 12 *13l 1,200
N ECEErEE I
70,000 3% 43| 840
—ZFHOISFO BE Y oH0lg M2
300, 0002 * 189K CH x33] 170,100
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- - - HEE
EX .22 H .09 HRAY - BES yEN . HlRE2
A=
— FOUAR OHFE U ADE 2Y
100, 0002 *5% *23| 1,000
—FONAF AN AR 2|
1,000,0008 #123| = 12,000
—HERFHO0IS MYIIZYNES X2
4002 2007} %604 4,800
—FONABOAM SAH 8,000 158123 1,440
— D23 RRU(L, BN)
3,000,0002 +20H 2 6,000
—F0UA 24 SO 3,000,0002 *2JH A 6,000
02 ZZ2YY 98,400 98,400 98,400
OFHOISFY L2 XU (AN T
300,000% %324 97,200
OFQUNAEAM ARA BB23 100,0008 +123] 1,200
206 =4l 22,672 22,672
01 Wl 22,672 22,672 22,672
OFMMYE FHOIS HEE 43 22,272
— el 20 &S HOIZAH)
3,200% #1824 CH 57} *6.3] 17,472
— el 201 &S H (MY A)
3,200 *50 M| Ch +5H %63 4,800
OYAIAIIOIS F2tel ARF 22l 20,0002 x23l 400
301 YU 63,780 63,780
09 BAIAHIXI®S 63,780 63,780 63,780
OFQUNAEAH 918 SF0IH|
250,000 *112 *43] 11,000
OMYE 2 FoAMYS L2
25,0002 +182% *23| 9,100
OWY OIS F2U HEX 248
300, 00021 * 182 +80% 43,680
402 P12 T2 0| & 452,000 452,000
01 SITZALBE(KHHE) 452,000 452,000 452,000
OME FHOIS FHHINE MY
1000, 0002 #1827t 7 *13] 364,000
OfE A0S BZNEANS (FRE T4)
50,000, 000! * 141 50,000
OBUOIZ SBLNE AY(HRA HILEBAS
)
20,000,000 *14! 20,000
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40
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o

EX 22 ZY . B9 - HRAY - BHES NELT 8= | yoza
NEL
O4tetits SFME A (LHstot22 Jdl)
10,000,000& x 14! = 10,000
QLR D232 RAE+ 8,000,000& 1 = 8,000
701 JIEtI HEEES 7,261 7,261
01 JIEtsIHNZ=Z 7,261 7,261 7,261
Od=Eea E83 3,053.5& +182AICH+128 = 6,669
Oot=Ee3d B&z 4112 +1200H =128 = 592
HREs(IAE2IAMNRL)IN2 103,347 103,347
BHENES(AMMSEFHAHXAXADZ) 103,347 103,347
MBS EFHEHNSEXNAIIS WIS 103,347 103,347
602 Ol Xl = 103,347 103,347
01 LBtHXI= 103,347 103,347 103,347
OAZ1 WXI3 103,347,000 141 = 103,347
Aos g A 1,045,682 1,045,682
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SIAAZ 20224
Ofl &b Xb== 0 =0l &

AFE - AU FHNGNE )= (el dd)
x4 o

"=% e | maz | mzz | nusz e | M2 |oIX4g | JErSe
2016 MK 3,668,968 3,325,190 0 0 0 0 62,497 281,281
20178 &= 421,691 392,982 0 0 0 0 9,078 19,631
20189 &= 412,833 403,507 0 0 0 0 9,326 0
20198 &= 911,606 900,277 0 0 0 0 11,329 0
20204@ &= 1,353,627 889,189 0 0 0 0 98 464,340
20218 &= 954,538 896,463 0 0 0 0 500 57,575
2022@ & 905,682 904,128 0 0 0 0 1,554 0

Al 8,628,945 7,711,736 0 0 0 0 94,382 822,827




SIAAZ 20224
Ofl &b Xb== 0 =0l &

SlA+E  AdMHBHEFHIAAXNEI S (ctel: &)
g o
. & o
9 == HIEXY | SHEA ezl | HUS2 | =38 = | ®®
H® 2 sz Sm | olaae | IERE
At B oHl (% oIm2H | 23aE |23y

20164 JHA 3,450, 170 2,505,857 0 944,313 0 0 0 218,798
20173 166,396 160,324 0 0 0 0 6,072 255,295
20188 & 739,768 722,860 0 10,793 0 0 6,115 A326,935
20198 &= 972,213 933,749 0 18,971 0 0 19,493 260,607
20209 & 1,291,569 1,218,540 0 66,413 0 0 6,616 62,058
20218 &= 963, 147 879,856 0 76,729 0 0 6,562 A 8,609
20229 & 942,335 855,832 0 79,242 0 0 7,261 A 36,653
Al 8,525,598 | 7,277,018 0 1,196,461 0 0 52,119 103,347




| 22 Ol EltD
4. (X2 & OE= DAl
S| AT ¢ 2022
Ol &b X2 0 200 A
AFAE ¢ FMUHEEFEIAXNAIS (cte & 9)
GIX| L Off &t
e Ol XI (&)X - - - Hl 21
2020\ &= 2 & Xy o 2021HEUHNUBD | 2022 SL ST H® 2 (@-®@)
= 140,595 140,000 103,347 A 36,653
ol X2 AN 140,595 140,000 103,347 A 36,653
=8 140,595 140,000 103,347 36,653




